Name:  _____________________________ (please print)
Signature: __________________________

ECE 2300 – Quiz #3
March 1, 2016

Keep this quiz closed and face up until you are told to begin.

1.  This quiz is closed book, closed notes.  You may use one 8.5” x 11” crib sheet, or its equivalent.
2.  Show all work on these pages.  Show all work necessary to complete the problem.  A solution without the appropriate work shown will receive no credit.  A solution which is not given in a reasonable order will lose credit.
3.  It is assumed that your work will begin on the same page as the problem statement.  If you choose to begin your work on another page, you must indicate this on the page with the problem statement, with a clear indication of where the work can be found.  If your work continues on to another page, indicate clearly where your work can be found.  Failure to indicate this clearly will result in a loss of credit.  
4.  Show all units in solutions, intermediate results, and figures.  Units in the quiz will be included between square brackets.
5.  Do not use red ink.  Do not use red pencil.
6.  You will have 30 minutes to work on this quiz.


________________/20

Room for extra work
[bookmark: OLE_LINK1]
	Use the node-voltage method to write a complete set of equations that could be used to solve this circuit.  Do not simplify the circuit.  Do not attempt to solve or simplify your equations.  Define all variables.







Room for extra work

Solution:  Quiz #3, Spring 2016  Use the node-voltage method to write a complete set of equations that could be used to solve this circuit.  Do not simplify the circuit.  Do not attempt to solve or simplify your equations.  Define all variables.

[image: ]
[image: ]
This is 11 equations in 11 unknowns, and can be solved.  
[bookmark: _GoBack]
Note:  In the solution here, I have made a less advantageous choice for the closed surface for the KCL for iX.  It is possible to make better choices, which would result in fewer terms in the equation.  While I realized this as I was writing the equation, I decided to continue with that choice, just to show that the equation can be written even for a less than optimal choice.  The real difference in the time required is not very great.  
image1.emf
+

-

10[V]

v

X

+

-

i

X

41[



]

i

Q

v

Q

+

-

40[



]

37[



]

45[



]

11[A]

30[



]

33[



]

31[



]

3[

W

]i

X

+

-

4[S]v

Q

44[



]

42[



]

+

-

12[V]

43[



]

34[



]

7[

W

]i

Q

+ -

35[



]

36[



]

38[



]

5[S]v

X

32[



]

39[



]


oleObject1.bin
+


-


7[V]


2.2[k]


2.2[k]


3vX


+


-


3[mS]vX


7[A]


32[]



image2.png
b
i £ Yo Ub=UE
oSO T T

- "/[S]U'Q = ©

Vi = =00 nil

U_D_U_C IO[L/] See next
Paje

%




image3.png
@ JB = 7[)'1_? L‘@\
® =

T (-5[53@>+ e

37(n3
@ L/[S}U”Q-t- .U_}_—_& + U;"'Ul—) + gﬁ_ F U}—(U'G_);[VD_
2inl il wapa Ysf
Us -12003)- 1

Gl G

e ind Sl
@ "U—X +_(“[A}>(30[ﬁ})+u.l3:

33 (2]

' o e (VX31{513+3;{;L3> e
@-ix-% 5w g n

3i{a3 43{n} 92[0) 3%(a3 s/}

=l U UR
33603 39 2653

(,‘& +H[A]+ Ua

33{n3

-

=0




